HENEREREHES

Mt

DH3FEIHIH (K)

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

S 19% TS 1,572.1 155 23
AAGHLA 112.1 969 150
JUALA 151.3 1,011 30
LEFLA 590.7 480 20
TFELSHLA 437.8 939 111
=RHLA 304.7 329 20
THLA 343.3 676 201
TaHLA 79.7 899 100
<7+ 88.7 1,589 409
<A 100.0 780 356
FHA 59.2 459 21
TIAYTAF 4 49.0 101 20
F7>07 1,518.2 269 20
HFHS 341.5 30 20
FYRAI UL 60.9 669 36
A F 4 61.9 1,161 230
FHLY 52.6 3,100 500
EsINY = 22.5| 20,166 4,400 |g
HF A 28.8 543 189
T koA 31.2 400 23
A 21.7 183 20
AAHYT 173.5 430 20

IS 6,201.4




[f¥fa] (BT ¢ kg )

TRETRAE =V H =2 = 1B Z & M =
SIE  19% ZILAA T 324.4 440 139
ZILAA 58 565.0 3,939 1,351 ﬁf”m
1 c/s
TUAH 2,115.9 433 75
UL H5E 400.0 2,300 600 ﬁfs"“
1 c/s
=247 48.9 619 189
T+E47 1,527.8 450 30
FE+<3 553.2 1,660 500

D
[ =]

1§ 11,736.6




[f¥fa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
EERFE 50& |TU 20.4 31 29
ESX 91.2 1,359 1,130
AAFHLA 49.7 1,281 911
=N 53.5 360 20
>O0JF 55.0 294 20
<A A 38.3 621 369
>0/ UL 97.3 1,420 1,029
8905 46.7 859 573
RZF 503.0 950 419
JEZHAN 84.5 59 30
SFIA 37.9 2,100 400
RORD 65.2 1,000 30
HY= 280.4 1,050 100
AnER#E 55% 2SR 34,791.9 461 50
aitiE 36,215.0




[;Efa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
HE 198
EEXFE 50% |ESA 380.8 1,700 600
ASHLA 18.9 1,500 800
<A A 36.3 1,400 400
RZF 87.6 1,050 500
<IF 34.1 1,300 300
iR 7% = 202.9 2,800 800

D
[ =]

1§ 760.6




